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1. For each question given below, four answers are given. Out of
four, only one answer is correct. Select the correct answer :

oo afeeer e BifRGitE Tee fian w1 BIRER 5oTe Ta @iz we Te |
% TG0 IR e
WMmeWﬁww|mﬁaﬁ%m@ﬁmEW|
% Tadi @g A8
mmmwmmalwmm e
fma | s femmre s’ g
%ﬁﬁwmm%wmﬁqm%iﬁaﬁ%aﬁamHﬁ%mam

(@ A solution reacts with crushed egg-shells to give a gas that
turns limewater milky. The solution contains— 1

9B Wz S IR G T ER e RiFm IR o Tesm II |
CSTRZBTCA BFI°M (Rl 3T | TRTDTS HE—
aﬁmqy#ﬁwcwwﬁﬁmmwtwﬂwmmﬁm
T (e IR | TINOCS HR— ‘
oA nf%ma Siarm <R frdst fremay s 9RY W
@) MEER AR wrem | ey e —
%8 gu o= ¥ IR R @ M s s 2 =)
q&mmé?n‘almﬁamﬁwm?

(t) NaCl HCI (itj) LiCl . (iv) KCI

-/(bj/ An.element reacts with oxygen to give a compound with
high" melting point. This compound is also soluble in
water. The element is likely to be— 1

B! (NeE, SRR FAsts RPN IR OB e Qo Beow T |
BT ~1RS T | TR (MTH! 3'o—

aFfo (M AFTEER STox RFm e T wEIER @ Becm w0 |
A1 T TN | TR (DA 2gen—

AR TRegarn sifRe ey s et TR R e aed
TR iy | 3 @i daral 1iew ) IR gar I wri—
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¢ uTg AT % WY AR W I e aren D Aiffa s
2 7% Afies 9o 3 fao ¥ 9% 9@ R0 | wHa 87
/{ﬂ calcium / @ERAR £ FEPAN / FarkEm / Ham

(ii) carbon / IHA [ IR [ FEA [ FEA

(iii) silicon / Rfrm / B / R / Rl

(iv) iron / WEw / SRR / @R / @@

() An element X forms a chloride with the formula XCl,,
which is a solid with a high melting point. X would most .
likely be in the same group of the Periodic Table as
o Xci XCly Saed IS 957 WA | % Tt SEIIYS 401 AT

otef | T X ©o RO DTS g3 35T R _FFIRA! TSNS

afR?
@ﬁx,mlgﬂwmﬁsmmmﬁwﬂmwaﬁm

wﬂlﬁaxm@mﬁawmmﬁwwmam

QP2
7R gar X 3 XClp wﬁw’mﬁwﬁﬁﬁlﬁmw%

Tﬁqinmgmluﬁgmxanmﬁ_nﬁg&gmmﬁamﬁﬂﬁw’

AR TQ AT AR FIeET St ?
@ X, XCI @ﬂwmm%ﬁ@m%amm

TS | sy ol aw X e e we % siwta gm?
(i) @Q (i)' Mg (iii) AC (iv) Si

/(d)/ The enzyme. contained by our saliva is called
A AR 41 BT [Red (@ A

ST AR A ST A

S g A SEE g
mﬁm(amm)ﬁwfﬁa@ﬁﬂﬂﬁm%

ﬁmylase/ﬁﬂW/W/W/W‘I
(i) 1ipase;?:'f‘z'cvrw/amw/aﬁﬁﬁ/amﬁﬁ_
(iii) msin/ﬁﬂﬁﬂ/ﬁﬁﬁﬂ/ﬁqﬁ?/ﬁ@"

(i) pcpsin/ﬂ’[ﬁ*{/ﬁﬁﬁq/w/-aﬁq
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yl‘hc part of the brain that controls the posture and

equilibrium of our body is ,' 1

TR R W oz T A ST TR R 7, iR 2
‘Ji”@mcawmﬂ%ﬁmamwﬁmm, Gifo =&
ﬁénﬁmmmmétﬁmmmwmm@m,aﬁm

m%mmmmmﬂ{ﬁmﬁm#@%mm

(i) diencephalon [ IR Wﬁﬂ | IS
/ / SRATRAEEH /

(ii)_ cerebrum ./ cofRaEm / csiﬁgm/ﬁﬁam/mﬁ%m;
jfﬁ cerebellum / GRwER / cifdcem / e %ﬂlﬁrﬁﬁ

(iv) medulla oblongata / cwgmI wREReI/ |
PRlenga CTEHI SIEReNY / Sgen

S
() During the &Q i :
e e rse of ‘evolution, the process- by which

stic features of the members of a species

ooy t}tlo the influence of various factors and thus
0 the organisms with isti
: &d new characteristic features
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e frm i sfen # fm sfen g fedy o wonfe & Sfaeggt 6i
e vt & fiftm s & o @ wiads s [ it
el o e hal 1 3 Fan R, 3w wlwa Y FEd

/{i)’ speciation / 2SR / 2SI / FiEN STRGATE / Feirferahaor
(i) evolution / TN / AP / wiierTAR |/ faEw
(iii) inheritance / I / ITLH / Frer wRA smisEmE /
RAUEER
(iv) variation / Rf¥mer / Rfewer / @m / faftea

(g9 Where should an object be placed in front of a convex
lens to get a real image of the size of the object? 1

TERET SR SPRA I 2R R 2T, TR e (TR
TS (I TS AT ABR? . _
TFRET A SR e AT (1S, TE, TEREl Te (IO
TR (P A FTS TA? .

AN T e TR O e, e AR g w A

RpmreTa 7 ArEPRTEEAA T
%{ﬁﬁﬁmm@@ G SR 1 SR v e ¥ R e R

qa41
* TE?
(i) A%@@ principal focus of the lens
R T3 F IS
CEICHR 40 CFRITC
U TR B A
o % gE Hiwd W
(i) At twice the focal length
TR (TR 18T Y9

@IP R R8T
FFE TAAER TEA TR

wa g A AT R
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/{pﬂ/ At infinity

RIS

Lk O
et A STETREE
I W '

(iv) Between the optical centre and principal focus of the
lens

R AR (FF T I F IR AT
(ACFR AR (FF 9% Y (FIRCH T4
A Wi e TRy e w i S
0 ¥ WHIVE FR 91 T BIFE & o

with normal vision is about 1
e 73 1 eneRaE IR =BT (731 PN 7Y XA
o gfesTerm TofS S e i@ [{e el
MQWW@WWWWWWW
mﬁ%a@%ﬁmmﬁwiﬂﬁﬁé,w

&7 25 %@Q&eﬁﬁm/ xe FOR / 25 frer / 25 #i=

g zé@n [ Ye® R /3¢ @R/ 25 o Mo / 25 Fo o

(i) 2°5cm /e ® /e AR/ 25 f0 / 2:5F01fo

(iv) 2:5m./ x-¢ R / 3¢ @ / 25 Prer / 2:5 i

(i) The practical unit of electrical energy 1 kWh means 1

(apfes e IRT 99F 1 kWh T

(g xfed IRF 93¢ 1 kWh WA
Hifera- Wi Sreifai e 1 kWh & sif

forg, il & IR WE 1 kWh 1 Taed g1 8

'{h/l‘hc least distance of distinct vision for a young adult

() 36x10° J B 3.6x10°% J
(iii) 3.6x10° J (iv) 36x10% J
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ﬁ/ Which of the following is not an example of a bio-mass
energy source? !
T (L1 -7 *feq Bee T = ?
fiare @R &iTsn e Seor S @7
TR T R Tl AR S A AR Te?
Frefafaa 3 @ = 9 am I 9 w1 e T 27
() Wood / IR /7 / TH | TR

i Nuclear energy / fedn s / e S / =k afe /
i St

ﬁcobmgas/cwcﬁ/cmm/mﬁtﬂn/ﬁmﬁa
(iv) Coal / IWe / F%el / Qe / wryell

GROUP—B |/ 94—gl% / ¥—N1 / @—aTgrm |/ TE—WT

2. Give an example of a double displacement reaction. 1

fa-wropre e B Tarzaet i |
@36 fa-seprae i Sozad we |
SleicieiCRETEIRIHERICCRTIHD R
ﬁﬁwmaqﬁaﬁmmgq@%mﬁﬁm ‘
- R

3 What is du@ of a_metal? | 1

1g <R TN TR (A2 | |

G 4TPR TANT! FF I ?

y1g AR QTSI e gEi?

ygR R g?

}/ Which of the following hydrocarbons undergo addition
reactions? . 1
CoHg, C3Hg, C3Hg, CoHy and CHy .

T (TS FRY A @S Ridem ¢ram 2
_CoHg, C3Hg, C3Hg, CoHgy =¥ CHy
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e @ERef e @snee Rirm o 2
CoHg, C3Hg, C3Hg, CoHy W3R CHy

TRRM AT 58 FETER S ferenrg RfRr?
CoHg, C3Hg, C3Hg, CoHy 3 CHy

Fafafaa wsgiea § frmt geem afifen ot 27
CoHg, C3Hg, C3Hg, CoHp 3R CHy

5. What is a dominant character? 1
SR RE I @I 2
el oRE 10 W= 2
TR AEH qrE qE17
Wil =i R wea 87

. What is meant by power of accommodation of the eye? 1
533 oA Wl fF 7
R RICER RO ﬁ?&@ ;
fy mﬁ@\q@ o7
e L 1 I 87
S |
7. Take ab&t 3 mL of sodium sulphate solution in a test tube. In

another test.tube, take about 3 mL of barium chloride solution.
Mix the-two solutions and answer the following :

9Bl *RrFee 3 mL IW 2'RAW weeiy w1 CGTRI | W 9Bl A_rFeers

3 mL 7 QAR #IR T @RI | A T Ao W oo HAreEa
Taq foyar : '

3 “IFACA 3 mL GG AT 73 e | O <D AW 3 mL -
R GRS 73 8 1 b @ Rt 7o o R ben o .

TR R FEIE 3 mL W R wete e @ R R s

TEIE 3 mL W AW T TS Mo w1 A TR R s
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@ TEAEl § 3 mlL i Tk @ e A w s WA 3
3 mL Wmﬁﬁqnﬁﬁaﬁaﬁﬁwﬁﬁmmmﬂﬁm

(a) Write the observation of the above experiment. 1

@[3 RIPIOR e fan |

TR QTR L T |

T sTeTe AR for)
374 forameama # e R 2@, faflw)

(b) Write the chemical equation of the above observation and
mention the type of the reaction.

ewwwmﬁﬁmqﬁmwﬁm@ﬁﬁﬁw

E?%Wﬁawﬁ?ﬁﬂwqmmm\ﬁ@mmwmw

%ﬁw%m@mﬁ%ww%ﬁﬂmm TFR e
|

8. A metal compound A reacts with-dilute hydrochloric acid to
produce effervesccnc%@hc gas evolved extinguishes a burning

candle.
aﬁ.ﬁ@ﬂAs&ﬁﬁﬁWWﬂﬁmﬁﬁWﬁﬂﬁml
e (ZHI ¢ ST ot AT X' TIA |

a7 qroq QP A 7Y TR Smbices e R s IR I
Teorm 2@ PTG G wE A (T RS o

mﬁ@ﬁAm%ﬁsﬁ;wm@zﬁﬁﬂmmmﬁwmﬁ
e | AiERAE e e aE T A @E | |
1 uig A A 73 TR 3 & @1 Al e v, ) ﬁiwa:ﬁqa
g STerdt Himet B g i 2 |
(@@ Name the gas that extinguishes a burning candle 1 -
Jfe] Pl 1T TYS (SRR AW foran | |
A AP (A S o A ol |
S g FRETE @ERaE el g e
Vet WEt 1 gHR e 9 H AW FaEe
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(b) Write a balanced chemical equation for the reaction if one

of the compounds formed is calcium chloride.

RIFICETS SR (a1 B (o ceiRaT BARs 2'ee R e

- gfere WMFARH! AR
Ritribcs Seom 2 @I (A FEPER GRS 20 Rl 50
srefere ReRafs e | o

| g AEREE R dien oW WS e
ezt aram TG TERAR aeEerg R .
muﬁ%m%mﬁg%ﬁmﬁmmm%ﬁﬂaﬁmaﬁﬁaﬁﬁ
T Howam FREs R . '

Or / 71331 / 9331 / &t / raan
What is a neutralization reaction? Give two examples. 1+1=2
jrmﬂﬁﬁsm%?@xmqﬁm

mﬁmﬁl?‘iﬁmﬁﬂﬂl _ Wkog_-

weel WAH R e m R A 2

SeritHteRen vl #r #7 @ e ) |

9. Name the rcsPira% pigment present in our blood. State its
function. & 1+1=2

R (oS < EPRTRA T B | IR P S
ST 3 Wﬁ#@ﬁﬂmﬁmlﬁm@ﬁﬁWWWL
S frar ot wem i | R 3R wmfie) T

TR T A 9 aem vl o1 Rifaw) e e T 27

10 Write two differences between axon and dendrite. 2
T S (SGRH oA o1 1%y it |
SRA GR% (AGRA T G ool (ored |
A A SgTEe AR W wRm )
b (qFiT) aun ghe (S3e) # @ sfw R
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11. What is the importance of DNA copying in reproduction? 2
oo 2fpre DNA-Y SRR eramsie! § 7
ot 2ifiRIes DNA-3 efefifiearem et 91?2
SRATEE DNA T gHmEf it @7
o To To VAT F1 T & F1 HEH 87

}2.’ An object is placed at a distance of 10 cm from a convex mirror
of focal length 15 cm. Find the position and nature of the

image. 1+1=2

15 cmvwmﬂ&amwmwww 10cmwaﬁlazawﬁ’a1
AT SeEw W S R 40 1

15 cm (FRF OR «3fb T v (WF 10 cnim-wﬁmam
2E | AfoREHT TREM W3t oS fAefa e

15 cm F & SEURH @91 JRA TREAEE. 10 cm SHYUEEE A AR
a1 At e | e A s gk R

15 cm W&E g F 7o & % i@ 10 cm T W @ 7| il
ﬁﬁirﬁramu?ﬁ

$@ Or /%31 /5931 / T&T / Srerar

An object§cm in length is held 25 cm away from a converging |
lens of focal length 10 cm. Draw its ray diagram. 2

5 cm 7T 38 @Bl 10 cm ¥R (¥R SN FWR 9391 °/1 25 cm
TRES 41 271 TR D S |

93 5 cm R W @I 10 cmmmﬂﬁﬁﬁﬁcw_
25 cm A0 A Al | @1 IS i |

5 cm WRYEH A9 FSR gEE 10 cmmwaﬁwﬁﬁmnﬁwwﬁ@l
5 o™ 25 cm MEE W™ SEE | 3f Qe i) anfa)

§ cm &« G o= 10 cmqﬁm{&%%{ﬁmﬁmﬁﬁn% 25 cm g W
Tl T ¥ | Fwew v - e ot wifwg
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13. A current of 0'5 A is drawn by a filament of an electric bulb for -

1

>

10 minutes. Find the amount of electric charge that flows
through the circuit. ’ 2

D1 TR ET SR 10 RS TS 0-5 A AR 7 | TEDS TR
R APRET =R (e Shvea | -

< PRE W ow 10 RS W 0-5 A AR G 1L RS B
‘fﬂhﬂﬁﬁﬂ%ﬁﬁﬂﬁﬁﬁﬂn

T Aea A fremieen 10 fife w9 yrEw 0-5 A AifE IRIE [
m|ﬁmmﬁaﬁmtﬁﬁaaﬁﬁﬁa@ﬁ§m

ot g am S wg A9 0.5 A g umr 10 e 7 warfea Bt R
wﬂqwﬁm%aﬁgqarﬁmmqﬂmmﬁﬁm =
Or/m/ww,/w/amar.

How much energy is given to each co i
ulomb of ch
through a 6 v battery? TITES passing 2

6vmaﬁaw-mﬁt§§@wﬁf@swwm@ﬁmﬁwﬁ?ﬁmm?

wﬁqvmﬁ*@awﬁmmﬁﬁmzﬁw'wmﬁwﬁ%éﬁww?

GVWWWWWWWWWWW?

6 V 20 8 o 1) o e v = e v 4 e 47 |
D ' .

Explain in @ how ozone layer is getting depleted. 2

w’w%@%@wm,mmnwl

O TR SR PSR, ST W 3G |

WS ARPI Al ST el g2 )

A T Form v A9t B @ R, Wew # iy Hfd

Explain the working fuﬁcﬁon of an electric motor. 2
<1 (IS T537 IR <7 71 )

T (T CAMTAR TR T A |

AR Hifecrd 7l graTe QT

g e B FrRRY 7 =i B
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16. Give any two ways in which non-biodegradable substances
would affect the environment.

e R % RIS ooR (PR o[l R @I 101 SeRAR Ree
IGEIR

ez ffiead oMY AREeT 2oR IR @ I 56 SRR R T |
R FRRS Rredn sagEmE Mgm et gt 3fY w9 T8

A A s gare Rt srdm Pefeof vad wataor 1 mafia @ 8

Wu have been provided with three test tubes. One of them
contains distilled water and the other two contain an acidic

solution and a basic solution respectively. If you are given only
red litmus paper, how will you identify the contents of each test
tube? ,

o TG e fRu ozce | BrEeR «bre S -+l S S Pre &
a1 @RS §Q WF <51 WREY T AR | W (WS- 61 PO Few
o =, (OB AfeEhT ARrweTe ¥ TR R e FRa? -
oI oA AreEE crew TR | e waitce AT WA R W
Tfe TR S IS T R I FRI T AR | Wit (O (3
RibTF T (TSN W, O A SRFAE 4 TR S IS
IIAR? \Q - )

A YW A SRt ARR TAIE gEAE R TR T
A TRreR T I wWReR e ) YR AR, e foren™
@r@w’a@%ﬁ, It THINE AR TS A TAAEGRE! A
femafia? |

A e RE A B I TR T @ WA R
snefi e o g el foeed 31 AR snoen Faw we foemm o fan
S 2, 1 A s el 3 W@ e gert f ggem R w7

Or / 71331 / 9% / var / srearn

Which gas is usually liberated when an acid re.élcts with a
metal? Illustrate with an example. How will you test for the
presence of this gas? 1+1+1=3

s g s R R AT G oR Prfe W b
BRI O JoE il 1 @R (orReR TS R oA FR 2
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WS 4rg7 % Ritem I3 TURTS: @ T Refs 27 7S SRPR
R et 1 @3 iR TR Prora 4R e 2

AR aTge A ofteen R ST SRR W e SRER? AER
Rl Jdm 1 & ey e TR s @

ug % WY W R e 93 W wmRm: $R-d e Reed ¥
TR F T WAL | I e ) IR ) sifg o 1 F07

7./ (@) Explain the following in terms of gain or loss of oxygen

with one example each : 2
T I W Y @I TR IR BT TR A
Tl ;
wﬁmqﬁwwwﬁﬁﬁmmwﬁammmw
AT FCA1:
%%W_w@wmmmﬁﬁm@mww
m%mmm%mmﬁnwﬁﬁwm g
% T & e A S
/ifo:ddation/mwfﬁm/wm/m
MR&dueﬁon/@ﬂ‘f}ﬁﬁmﬁ/m/m
| ©
) Why shou&% magnesium ribbon be cleaned before
buming% r? 1
mMmmﬁmﬁﬁmﬁﬁm@ﬁa‘amﬂﬁm
e 5 S e 1 T 7
ELE]
B ﬂm@@a@q-ﬁ@qﬁm

g A T TEt Rt e 9w 9 e s 27

19. (a) Which element has twice as many electrons in its second
shell as in its first shell? 1

@m@mﬁ@ﬂwmwi@qwm?
@Hmﬁaﬁ@wmawwg@qm@qm?
e gyt A diciram fify St Yom o w7
%Haaaaga}mﬁqzém%ﬁaﬁs@fﬁﬁ?
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yAn atom has. electronic configuration 2, 8, 7. What is the

atomic number of this element? 1
BT RAE TR R T 2, 8, 7. $X ARG TR
s {52

q3fb R eRaAe R =@ 2, 8, 7. a‘iciraﬁsamqﬁai
FIGITI?I‘P

A TR T TR S 2, 8, 7. %gﬁgmﬁgarmmﬁ

- femTET A7

@WW@%WQ 8, T%Isaaﬁaﬁmmm
i

(c), Lithium, sodium, potassium are all metals that react with

,-/ water to liberate hydrogen gas. Is there any similarity in
the atoms of these elements?

o, RSN, SORAR—d2 ORI P | ‘Eszc— e e e

R IR PE'TA ("R TE I | a‘icﬁa@ﬁw JEI@ R S

IR ?

«@%ﬂw—«ﬂ‘-’zﬂwﬁ g | @l weR SR Ride
| @q@mm‘im@ﬁamﬂmﬁimm@v
fafiram, uaﬁqmmﬁﬁmmmﬁm’%ﬁﬂﬂaﬂ@n
a0 TE mg—shm W JREATERR - TR wmtﬁrt“ﬁ‘rﬂaamm
zg’ e '

<hitras, wifeaw, m—ﬁmm@m%aﬁ%mmm@mﬂn
ﬁmﬁlwrﬁ%mﬁﬁﬁmﬁ?

Or / 71331 / 9% / &t / e

The position of three elements A, B and C in the Pcriodic Table
are shown below :

*1figa eIferrs fSfHET (e A, B czmm—cﬂ@m
g e s (9 A, B R C @3 7R s @ TR :
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FFAR o 'AEE Ahaw IRgE A, B 3R ¢ 7 SRmeRE meEe
e et .

37Ed |t § fF o= A, Baw C 6 fRf e wer R

Group 16 Group 17

(a) State whether A is a metal or non-metal. 1
T A 49 3 Q4TS ?
T A 419 = S4rg 2
A 31 urg T YrgAfe?
AUgR A Aug?

(b) State whether Cis more reactive or less reactive than A. 1
C (T=eh1 ASl3 RfR HeFn (7 39 a2
C (b A @R (cF @ sTferm =1 3y S 2
CanAﬁqsfhaf@m@‘HW?
A #i e C.Qa@%aﬁ%mﬁa%mw? -

(¢ Will C b{@?arger or smaller in size than B? | 1
C PR B 9lE TIed N ST 2
C P B @3 (F IS 1 Q6 2
C 31 B gz Wi 1 3=fRm smm?

C %1 959 B/ &1 ¥ a1 9117

20. What is hormone? Give an example of a growth-promoting
plant hormone. How does movement of the leaves of a sensitive
plant differ from the movement of a shoot towards light?

1+1+1=3

A 32 B Jfae wfR @A [/ i AGKA oy b1 SR
firan | siscam Bfen IR ST T W 9T (R e T oA W
N AT 7
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A 2 I NS W T BT AGRA s @3 Tarme we |
IO FOR oK TOHYl G} S YW e e (@ee e W
I~ SR B 2

T4 W17 ARSI TGN HeR g ww A AR ) v aew v
foramsf aEaem AR v | Risme e @RI WE BReTY
T 1

TN F1 87 T TIRY I W1 IR AR A Ry F oI ¥ gE-4§ =
& uferi i w1,y A 3R Wie B R | e wer fm 27

Or / 71231 / 9% / T / STerEr

What is hydrotropism? How would you déemonstrate.
hydrotropism with the help of an experiment? 1+2=3

RS &2 b1 Ao T TR A AAPS 1)
TARSH 12 @3B RAFIA ST FARS AP A |
T ZRSm W7 AR HAR WIS WS TR TG gfuea
=R ‘ :
SeTgada F §7 Srgad i ¥ g o s ) arfvherr A

N

21. Describe the pro&‘é@% of sexual reproduction in flowering plants. 3

ﬂfﬁﬁm@gﬂﬂmmwu
AT oA 2iferdl 3 A |

faR SR AT NN FETET G RRE! 3@ |
geft Dt 3 2Afireh s i @ ol R

Or / 7831 / 991 / Tar / 3raan

How does reproduction help in maintaining stability to the

populations of a species? 3
o AfFATE, AT 2Eed &9 AR B 791 F31© @S T I ?
iy R 9'urg R 9" TRAREE S AEk I S
57 freft oftehier < wnfe & enfye 3 Reg o wers 87

[ Contd.

B19-GS/22A

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

( 18 )

2 Explain the relation between evolution and classification. 3

TR S N RrerTR MR o I /4 |
FARTPT @3 ) RSER T4 o T T |
FIETHE 3R JraREAm=f T 9 ¥a@s)

S forehma v it % wn g6y w1 avh it

Or / 71&J1 / =33t / vat / sreram

How many pairs of sex chromosomes are contained by the
human beings? Explain how is sex determined in a human

child.
/%zi (QXAR B @ UST I WA2 TRA R wAS el e
(PTTHC 41 2, /0 3 |

TR TS (A9 B (e I WA TR IR R B e
IS 31 =W, W01 A |

AR S 0 39 ST A AR 1w s g Ry
AT W, 3@ |

mﬁﬁwﬁmwm%?wﬁm%ﬂﬁwﬁ@ﬁmﬁ?

23. Draw the ray diagranto show how hypermetropia is corrected.
The near point oﬂ\@ ypermetropic eye is 1 m. What is the

power of the lensirequired to correct this defect? (Assume that
the near po@f the normal eye is 0-25 m) 1+2=3

WWWW@@WWIWW&WW%

ﬁwammmmmmw%zwﬁ
(TR FreIf 554 11 =% R 0-25 m) ]
TRYRRETR AT ¢y ffa o e | <ol T coredm we Fies
7 1 m. @ RICTA Ko™ 50 sy @ wye 399 (4c] s
o B &1 =S 7% 025 m)
oA el s R A dar Wi anfe) e g e
@ BT 1 m. 3 TR S g m MR S TR
(3w gUEEn AR ety fr=en 0425 m)
ﬁamwﬁq%ﬁﬁ-@mﬁéﬁﬁaﬁmm%lﬁﬁqﬁﬂm
T =1 frke fog 1m 81 W A9+ unifte =& ¥ R sews o9 g
w1 g7 (I8 Wi+ o wmr 3w fre fig 025 m d)
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Or / 331 / W% / Tar / SFeat

Why does the sun appear reddish early in the morning?
Draw the ray diagram of an arrangement for observing
scattering of light in colloidal solution. 142=3

oo e qepEl (TR R 2 ToOR WS e RFPGE T
Sgfer Affoa Wi 41 1 |

T R TG (@ (7 PoWew @ wieed  REERER
RETHC ST Ao S |

R Rmif gwE W TR WWm A7 woe TfeEerE ®iH
TERAEE! 7EH JTEw™ SERAT™ G I8 R A |

gt % wwa g wom Ft i Qa1 &7 Fioised R 3w S b
1 Yo = o o el s

24. The resistance of a metal wire of length 1 mis 26 Q at 20 °C. If
the diameter of the wire is 0-03 cm, what will be the resistivity

of the metal at that temperature? 3
20 °C Twe® 1 m TR 4194 R PR (@14 26 Q. M SROER I
003 cm T, (5@ Ok THers 4pd @Il M 2’37

20 °C Twen 1 7 34y oL @Y 26 Q. I oEa I™
003 cm I, S THOF 419 (AT FS I ?

20 °C 3 aRaEt agf e IRf am 26 Q. gfR ari @

0-03 cm FPN, e 4 AT UIgi SURAR AT |1 <07

vt oTg ¥ 1m @4 aR H1 20 °C W I 7RAT 26 Q B1 AR AR F1 =W
003 cm R, 038 T W uig A Aga wioduwa F= Brft?

Or / 71331 / &% / W&t / srearn

100 J of heat is produced in each second in a 4 Q resistor. Find
the potential difference across the resistor. | 3

407 QT GBS oS (IS Teom (F[I W 100 J. @IHFOR R TH
e Rearen Sfea |
4Q @7 @I @ S CRFTS BLom 29 T 100 J. @RI TR TNE
Ty Rearen @@ F1 |
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4 off A S R AveaE 100 J Ty fg i Femnf
o @ arenfy wRerE) g

et 4 © WRRYT F ¥R ¥ 100 J TN IR B @ 1 IRy F R W/
et 3 i)

25. Explain how does a Solenoid behave like a magnet. When is the

force experienced by a current-carrying conductor placed in a
magnetic field largest? 2+1=3

B PR (ICTCA TIPS WA WA I, IR forn | (B ovae 7R 0
RGP AR qICE WS T T (A HA® 7 2

CIATS FOICI PRFA el W64 ¢, ¥ @I | FII e Fio A
ARG G AR TS T 99 I A -2

e TR gEs At aEk R See ) R geemtoEe @
AR TR AT B S1an [l AR 7 '

w1 iR Y e W 27 Rl e 4w § R R
YRETE! =Teie | AN o 5 21fiewaq Brar &7

26. What are the qualities of an ideal source of energy? Give the

names of two energy sources that you would consider to be
exhaustible. O 2+1=3

Q

51 e =% Be %wﬁﬁi?gﬁﬁﬁ@qﬁﬁmw@@
BT R AL

‘dﬁﬂﬁ@%&m@mﬁﬁ?gﬁwﬁ@wﬁmwﬁ%
TR AN (AT | '

TR MAR TEIfA SgmeRt M ow? A TR v dhd S
wiwf g g’y

m%maﬁaﬁwmﬁ’é?@ﬁm%ﬁ%m%ﬁmﬁ%m
FHT A B

}J‘{. (@) You are given a hammer, a battery, a bulb, wires and a

switch. How could you use them to distinguish between
samples of metals and non-metals?

(ORI 51 LA, b1 R, b1 I, SEie) S 51 B35 e 37 |
R TEAR IJTZ IR 413 R S4Ip @A BN 3 2
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(CATE 93 TR, <afd AOA, <3 I, IH TR 2 @I
ST T | X TSR IR I €1y IR TUPA N P e
FAA?

Y TR T, AR Ve, TR A, R AN T gEE e el ¥
IAEHRE! TR U1g R WGt B wrar fema d?
AR T e, 4ef, wew, AR we fow Ra @ R ) W I W
urgall Td uTgalt % T % ofa 3T i W W qHd 87

(b) Pratyush took sulphur powder on a spatula and heated it.
He collected the gas evolved by inverting a test tube over
it. What will be the action of the gas on the following? 2

mwwawmaﬁﬁﬁmﬁ—ﬁﬁﬁ|mmcm
@8 «B ArwHE eorend (R g IR | wore A AwS

=roR RfeFm @m 232
ﬂa@ﬁmﬁmwamﬁmwﬂ—mlwiwmﬁ
maﬁﬁmmmmﬂmmlﬁﬂ%ﬁ%ﬁaeﬂwﬁa

faferm Fme1 =32
mm@mwmmmaﬂﬁa@mlm
ﬁa@ﬁuﬁnﬁwa@@éﬁwrﬂmﬂw1w

. BAEER A AT AP ?
Tegs § TR IO H o 3@ ™ R | T waTe F I

a{%wﬁmﬁi@%aﬁwﬁﬁmlﬁnﬁfﬁﬁmﬁaﬁﬁmwm?

(i) Dry l@ms paper
u¥ LiRE]
Wy fABHIT FIICH K
e fotenTa @rErE
@ em @ w

(i) Moist litmus paper
fre febure F1% |
fre AP T H
R foerma @r@E
g forem| 7 W
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(c)” State two ways to prevent the rusting of iron.
(e TICE 491 (314 FRAEA KB Borw Semy 9 |

(TR VRO 41 (Y AR G0 SR By I |

QA A e fEAEEE RER T |

AR W I TR F fow @) i Tawy

Or / F1&31 / 9% / vat / aeran
(a) /Explain the formation of sodium chloride (NaCl) by -
transfer of electrons.

2

EALH AT WRACS & A #3737 (NaCl) 5199 a0 <41 |
ERG TR T CTTRAT GPIRTRCSR (NaCl) 157 T |
TARARRN a6 feam w'ugeht (NaCl) Smimmae Tda )
TR o TIARY % TR Aean F6REe (NaCl) 1 fmiv.anizw)

/@f/ What are the ions present in NaCl? : 1
NaCl QKOs 431 SRR & 2
NaCl (Qs1fbes A SEergz § 92
NaCl GREE IHE SAEAHRT 71 712
NaCl # #H-8 31 ?

g\@@fﬁm E:
(c) What are photeric.. oxides? Give two examples of

amphot ;@@oxides. 1+1=2

T FE (A 7 T SRR o1 v fi o
Todill SHET IS 0@ 7 1 ol wiRees g we |
WY SR TR ER W W7 A Gl sEsh W R o
el TirTge fRlt Fed 87 vl sifarss % @ Saem AR

'28. (¢ A mixture of oxygen and ethyne is burnt for welding.
b Explain why a mixture of ethyne and air is not used. 2

@l ([ R TS (welding) SRS S XUER g v
=Y | YA SF IR e R e 90 = ? I

G (SISl (RSWA SN (welding) SETEA @R RARA-aw R v
T4 2 | 2 @R TR T (R R I W A2 JIL I
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FfFEE TR AR ' AEE) SR AR YEE weAE S 3T
AN R o' Y13E! I AREA™ S AQd |

HTFAISH a1 wurgd & o &1 <gq Afcen & forg fovn s ®1 s
a1 91 % T @1 3w w7 e wan? ool B

yWhat 1s esterification reaction? Write the name and
structure of the product when ethanoic acid reacts with
ethanol in presence of an acid catalyst. 1+1=2

aBiReT RfFw 5o afts st TiRkfes 2umfie ke 2umeR
w51 Rifem R Seom @Rt “mABE T W v B

Eite R Fio wifc wEie Thikfore wris e
T A% R Fea Seom zew smidba AW @33 918 (= |

TR Ambmm fesmagm ot e o Raame sumfe
e umEs Ay AR amiiEE gEreRE g T S
)

Tt Al @ 87 wFleE T W on IoRe Y Sufeafd §
Qmmﬁaﬁﬁmm%maﬁaﬁm%mmamm
i) N
SN
: 3 .
‘/(9}/ Write thr\@%'ncs of the following compounds : 1
St

1 feray -
e (@esEa AN @
TR GRHRA @t fox

= et & 7w ferRa

AT H—C— GG
H b
| H HH
/ﬁ( H—(I:-—cl:-—<|:=o
III I!I 1
B19-GS/22A [ Contd.

Download all NOTES and PAPERS at StudentSuvidha.com

wod pieoquuesse mmm//.dny


http://studentsuvidha.com/
http://studentsuvidha.com/

( 24 )

Or / 71231 / |3t / T&T / 3rear

(a) What is homologous serics? Explainl with examples.
‘ 1+1=2

e o PR e 2 Tt @i fen

TN AN T ¢ 7 TARAPTE, T ICA |

TREERR qrEl AreE ge1? Tl 9 gem /R

Foeer Aoft T ¥7 IR0 TR AHHRT

(b) Draw the structures of the following compounds : 1+1=2
wore fral (NIRRT sle-foa il '
e Qeelr sea-fta <
TRETE BN WRHRR g T 31fy
Frafafas Qfe 6 o= faba i
(i) Hexanal / (R [ (WA | WG, [ S90HA
(i) Propanone / A'o{H'A / (APFH [ WIA'T / WIHA
http://www.assamboard.com

(c) Name two hydrocarbons which. give addition reactions. 1

oS e cryedt 101 XY IR W forar
e R <9 . FRCGRIECAT W (el |

ERIDEIP] RS A7 g st g fory
et ¥ TR e 2 wweg & T e
@$

29. Draw a neat labelled diagram of the longitudinal section of the
human heart and show the direction of the flow of blood
through the different chambers with arrow marks, and give a
brief description of the blood circulation through it. 2+3=5

T T b1 R Bie ofrer e S S wR R, ctE
T AART (@R (TR 4RR o1 IS B AR oryeA AF QoA
ST (A1 (9% T i 5 R )

A TR & A R onfoare B W aw @1 Rt o
2 ficy RIS 260 7 ¢RE i O foz =@ orie w3k TEALA 19 ey
26y FSARIR G310 T [RIFT 718 |
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AR FgA A TER-Rde aemiaE @Rt s seeEE /e
i I A TR TR wa N aReE AR R R ik e R
AW Agaf TR TAE Y @R A e Bt /)

G §ed & ST ®e &1 AW F s415e qu1 39 fafim =it 3 W &

T G W R gro aeemRy 3R geg ¥ W % 981 | T GiaW
Torao it

Or / 7331 / WA / UaT / 3erar

What is photosynthesis? What are the events that take place
during this process? Write how does plant absorb carbon

dioxid 1+3+1=5
/m%;«mqﬁw 4?2 Swbe g TR R 2 BT e
wmwﬁ@swqm fora o

Wﬂmq%’m ﬂ?{mﬁ\ﬂﬁ_i\ﬁmwa@?ww
IR TIR-THIRS SR FCH, AT |

wrifafree’ TAm w17 Y RrafRamE SEE TSR 71 W7 REET TER HeE
T3-S S W) fo
BEONE méwam%? ﬁ\%m%a’mﬁq'&ﬁmé‘@?ﬁ%? :Jqfiqu?mm
@rﬁm R 37
N
Q
Q@
30. A 20 mm tall object is placed perpendicular to the principal

axis of a-convex lens of focal length 10 cm. If the distance of the
objcct from the lens is 15 cm, then—

10 cm %I (TR TG (7R U39 Y TFS FFed 20 mm%maza
9B 3 T | I R T ARG T[] 15 cm H, (SB—

10 cm (FRPT AR < TE (AW T WCF ATSRA 20 mm THOR
1B TG TR A | AW P 9% TR W Y 15 om W, OA—

10 cm $'%M SHIRE g oF R Ter w5t see 9t 20 mm

Gﬂﬂﬁﬁﬂﬁtﬂﬂﬁﬁﬁmﬁﬁlﬁﬁéﬂmﬂﬂﬁﬁtﬂmﬁw
SHAYIE 15 cm 9, 3f—
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1% 20 mm &= = 10 cmqﬁ*ﬂ‘qﬁaﬁﬁ?ﬁrﬁaﬁﬂ%'g@ﬁ&?%
T @ gl AR e RN g AR 15 cm R, A—

(@) find the nature, position and size of the image; "' 3

AfSRT 2P, Sagm s SRR Aoy o
AR 29l TR 9 SR e e
A AEEh, aaf AR A g,

wfcfore R wepla, fufa aun s e Aiftr;

(b) find the magnification of the image. ' B 2
ffefa Rdx e | |
2SR RadR = we
wrrEt ARt g
gfifem &1 smads 3@ Hifv)

Or / w1231 / 531 / Qar / ean

Find the power of a concave lens of focal length 2 m. A concave
lens has focal length of 15 cm. At what distance should the
object from the lens placed so that it forms an image at

10 cm from the le @ so find the magmﬁcatlon and nature of
the image produ@ by the lens. 142+1+1=5

2 mﬁ’wt@@w (TR 9% WS Y 391 15 em ¥R Ol
TToH (TR o} [PV @S THRE B! RE ) *[1 10 cm
@R AfSRT @1 507 FRT? TR TS @Rl RN o afdfRme g
fAef =1 1

2 m R CIChY G eGP ®Iol A IW 1 15 em @™
e I SReA (F (WF IO TG IV AWRE ACA G (AT
110 cm TECY @3 2SR e Ta? TP @R 2o afeRems Rda wve
oS fefer AT )
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2 m $'FHE TR M RN wew duF MeE g1 15 om w'Em
SRR Tew A RfwE e TEYETE AR g9 qRa SReds
fwm 10 cmmwﬁwmmm?aﬁm
TR THE TR IR wrEfy g R |

.2 m B g 9t TR eTEaa o Y aWar I T 15 cm B @

1 H§ 3Tad o et fom o1 wfafém @ @ 10 cm T W wan 81 o o
@ forart gt W fedra ®7 wiofom =1 smada au wpfe oft 3@ AR

31. Why should we conserve forests and wildlife? State three main
problems to construct large dams. 2+3=5,

T F AP 7 Feewa IR Ao 7 2R FrE e w4
01 2™ TR Raca Seay 9941

I GIR IVAAPR @ STHT IS W7 R Y . cwen oD
oY ST R a0 |
St AAY BT AR SRR R Sty S IR S g g
HAYH TETR ST | 99 | '
ﬁmqaawsﬁmwmmﬁmaﬁq?aéﬁtﬁ%ﬁqhéaﬁw
?ﬁwnqwaﬁm:@a‘m‘:?m&

t@y %</ Y9 / AT / AT
Why do we n to manage our resources? Write your views
regarding c@ewaﬁon of forests. 2+3=5
I SR TR R TREeHT IR AT 7 A FAETH (PG (SR
oS for |
@ HEITE AR IIZ TN FACC W ? AN FRIPCR CFCA (ONE
T[S (&Il |
St Sify greerd TR gmer T? e Say denf e T
g Al

& TanEl ¥ ey $ Evaea Ft 87 99 WE % T I R gFE
iicidl

* % ok
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